15E

1) F=——C+a2
F-32=9/5C = C=5/9 (F-32)

2) wq=2W2 oy, LtWi
1 Lo
A 2nr
3 =
) 2nr 2nr (R0
A A
oy =H*C By =t

B A
i &% BF
s B+F BF
A7 BF = ATEF
BF BsF
5) E:XM£
MoK Do MK
_ DoF
MoK

6) -—2%—=27crh = T =

7) Wp x Gp = Wins
Wp x 81 =56

56
Wp =—8'1—' =69%

8) Wp x G = Losses

Wp x 81 =25
Wp =25 =31%
81

9) 105 - 56 = 49 games
49

10) —— =60%

81

11) H=1,N=14

NHz=14+1+1+1=17

N _ 14 —82"’/
NHs 17 -7

12)

13

14

=

15)

16)

17)

18

19)

20)

Ha _ 8 _ g
NHz 17 7

(-7)2- (4)(3)(2) =49 -24 =25
real, rational, unequal

BX-1)(X-2) X=1/3,2

5X2-45=0
(0)2 - 4(5)(-45) = 900
real, rational, unequal

5(X2-9)=0
5(X-3)(X+3)=0 X=3,-3
3X2 +2X=0
2:422.4@3)0) _ 2%2
2(3) 6
0 -4 -2
(& 5)=(0. %)

4X2-12X+3=0

(12) + {-12)2-44)3) 12446 _
2(4) T 8 -
5:46
2

multiply all terms by 20
8X +4-20X=20-15X-40
-12X +4 =-15X - 20
3X =-24
X=-8

multiply all terms by 36
16X - 36 = -15X + 36X

- 36 =5X
X =-36/5

16A

N A_6,A_6 O _5
o 5 T 11 T N
8 12 o =5X12 _4p0ranges
& r 6

 C _1v, €_1,8S_2
S 2 T 3 T 3
L:i C:ﬂ =10 cloudy
3 30 3
30 - 10 = 20 sunny

3 A _2 A_2 B_5
B 5 T 7 T 7
____B =__5__ B:S—X 490,000 = 350,000
490,000 7 7 votes

4 S_8,8_8 R_T7
R~ 7 T 15 T 15
i=_8_ S=ﬁ§_ = 64 squirrels
56 7 7

5)

R_3, R_3 M_S5
M~ 5 T 8 T 8

= 5x24 =15 students

-5
8 like math

6) Na _ 23

NaCl ~ 58
Na _ 23 5= 23(406)
206 58 58
n _C__ 35
NaCl 58
Ol _35 . 35(406)
406 58 58
8 Ho _ 2
H2CO ~ 46
2
He _ 2 _ 2(362)
352 46 ST
9 C _12 _ 12(352)
352 46 46
10) 02 _32 , 32(352)
352 46 _ 46

=161g

=15.30g

=91.83¢g

=244.87 g
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16B 16C
b 4 b 4 3 Y
) N_5 N_5 1 _10 6 _C ___12 I o m ey = o) Wezx ~—s—=2
I 10 T 15 T 15 CFaCla 120
b _ 4  We need to know boys and we RQW
N _5 N=3X135 _45ps. £ 12 _12(480) =48¢ 2 T =7 aregiventotal. M) — =T
135 15 15 480 120 120 S
3) b 4 - Bp _ 4
T 21 7 12) 13/18=.72=72%
2 S1 .38 513 8S2_T7 21(4)
Y2 7 F e 1. Bp =—t— = Ep=12 13) 5/18 = .28 = 28%
Boys present equals 12.
90 _ 3 7-90x10 _ 400 students 7) F» _ 38 _38(480) _ &
T o0 3 780 120 27 1z %9 14) S | B
o _C2 _ 24 Ho 2 CFoClp  12+38+70 120
S 1 = home schoolers CoHo 26 CoHo 26
Hz 2 =
So = all others = 18) —— =" _ 31.66%
Ca et )CF20|2 120 °
< . sw o (450) 5) Co 24  Mc e
3 Sp_2 Sp_2 SW_3 8 2 _70 ¢, = 70(480) _ g CoH, 26 234 2 _ 70 _
SW- 3 'T°-85 T 5 280 120 "2 120 g EHE 1B}l ey S S OIS
234 .24 RE
=5 =216 Mc=216g
4 2 _ 4x3 _
B S e =ehs 17) 2X24+X+1/2=0 a=2 b=1c=1/2
6 Ho 2 My b2-4ac=1-4(2)(1/2)=1-4=-3
CoHo 26 234 imaginary
4) 8gal. =32qts. 9 Ko _ 78 22‘;'2=18 Mu=18g Mg+My =234¢g _
s TG 18) 1 xV12-4@)(172) _12id3
F 3 F 3 A 1 2(2) 4
— I — ) — i — ) — — E I
AT T T Ko _78 , _TB(850) _4q, L FeZI =1E$' FZS: =11:f’ ('1+i‘l§ , Salis )
A 2 x 1 550 110 2~ 110 9 . s S 4 4
—=— A= = 8 gts. ant. ivory —ezi
32 4 4 Cla 105
19) X2 47/4X + 49/64 = 1/2 + 49/64
32 - 8 = 24 qts. forest green (X +7/8)2 = 81/64
8) _fe __56 _ Mre X=-7/8£9/8 = (1/4,-2)
FeClz 161 805
805 x 56
o .4 .4 Ta.95 1) S _382 g_ 32(550) _qgg4 —e7 = MFe=280g 20) (1/4)2 +7/4(1/4) = 1/2
> 5 9 T 9 550 110 710 116 +7M16=1/2
o I 12=1/2
22 4 _ 5x22 _ : ) e o2 VO]
e To= === =275n. ) FeCl3 161 805 (-22 +7/4(-2) = 112
' 4-7/2=1/
805 X 105_ gy _ g5 2=1/2
161 12=1/2
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16D 16E
y O _ .4 O _4 cCc _3 , y F_238 F_ 3 s 1 1 1 1
c~ 3 TTT7T T T 10} = HBmeh ST T T T T 10)AB[—F Seg—t B]
1/3r z = Hz% BB
mr =B+A = AB=F(A+B
2) L _ 8 Weneedto know fotal, and we o S _ 1 Weneed toknow total fans and F * B
T 7 are given cranberry. T ) T ~ "4  we are given soccer. AB
11) S(A+L)— A+B=
g S 8 _ 165_3 No ST g S .1 = 11300 _ 1
) T -7 T~ 7 A+L T 4 T 4 11) cDb =_AB =CD=E(- AB
E XY XY
3T=7.165 = T=385 - 932  ER Y T= 11,300 x 4 = 45,200 fans XYCD
) Teso ~%69% TAB C
Hz 2 S 32
Ko 78 o] 16 718 S e N O O = 12) (.45)(5,435,960) = 2,446,182
) —— - =, 13) - =43.5% -45)(5,435,960) = 2,446,
) K20 94 K20 94 ) 1650 ° H2S 34 HoS 34
Ka 78 e 2 g 55 -1
e 1 S 12 400 S 32 45 9
H,CO ~ 30
Na 23 23
S 32 Ms 14 = =" =575%
5 _Ke 78 Mk 5 M2 _ 2 _peee 5)?=W=W ) NaoR “mrieeT a0 0
KoO ~ 94 ~ 752 HCO ~ 30 : =
32.442 0 16
752-78 =416 Ms=416g 15) —— — = 2 = 40%
= Mk = 624 4 A
50 624 K g 16) e} - 16 — 53.3% 3 NaOH 40
H2CO 30
Ho 2 My 1) 1 _ose
o) 16 Mo 17) X2+8X+16=0 a=1, b=8,c=16 6) e ulalyT NaOH ~ 40
9 0 "9 - 752 b2 - 4ac => 82 - 4(1)(16) = 64 - 64 = 0 5. 442
752.16 real, rational, equal, double root =26 Mu=26g 17) 3X2-2X-4=0 a=3, b=-2,c=-4
5 128 Mo=128g o4 b2 - dac = (-2)2 - 4(3)(-4) = 4 + 48 = 52
18) X2+8X+16=0 real, irrational, unequal
X+42=0 Feo 112 N 14
c H ( L NP | DL S
Y L S X =-4 ") NFe; ~7126  NFe; 126 18) (252 2:x2{13 _ 113
CHF3 70 GCHF3z 70 . ) = = s e
. 14
F3 57 19) multiply all terms by 24 e e
CHF; 70 4(8X - 3) + 24 = 8(X - 5) - 3(2 - 3X) Fez 112 (lig.‘/_f?’_, _Lg‘l_l_?-)
32X - 12+ 24 = 8X - 40 - 6 + 9X
c 12 Mg 32X +12=17X - 46 8) _Fee _ 112 _ Mre 19) [9-X =1.25X -8.4]100 =
8 —Chr ~ 70 - 840 15X = -58 NFez 126 882 900 - 100X = 125X - 840
840X 12 _ Mo _ 144 X=-313115 221_3_61_13 = Mre=784 g 1740 = 225X
40 20) multiply all terms by 21 LEREL LG
- . " 9X - 21X = 35X - 42 N 14 " 20) multiply all terms by 6
O] wmassio mln Wby -12X = 35X - 42 9) S S 3X + 90 = 2X + 6X
CHF3; 70 840 NFe; 126 882 =2X+
J -47X = -42 90 = 5X
840 x 57 882X14_M _
—g = F =e84g X = 42/47 T - -89 18=X
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